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IN THE MATTER OF the Ontario Energy Board Act

1998, S.O.1998, c.15, (Schedule B);

AND IN THE MATTER OF an Application by Union Gas

Limited for an Order or Orders approving or fixing a multiyear

incentive rate mechanism to determine rates for the

regulated distribution, transmission and storage of natural

gas, effective January 1, 2008;

AND IN THE MATTER OF an Application by Enbridge

Gas Distribution Inc. for an Order or Orders approving or

fixing rates for the distribution, transmission and storage

of natural gas, effective January 1, 2008;

AND IN THE MATTER OF a combined proceeding Board

pursuant to section 21(1) of the Ontario Energy Board

Act, 1998.
Power Workers’ Union Interrogatories: Union

1 – Ref:  Union Exhibit #A, Tab #1 page 1 and page 5
Issue Number: 1
Issue: Revenue Cap and Price Cap
a. At page 1 Union references the NGF “Sustainable efficiency improvements that benefit customers and shareholders and ensure appropriate quality of service for customers” and at page 5 states its own fairness principle: “the benefit of productivity improvements, both cost efficiency gains and growth, should ultimately be shared between customers and the utility.”  Please describe how Union’s IR plan accomplishes this and how Union will measure and report on this. 

2 – Ref:  Union Exhibit #A, Tab #1 page 1 and page 6
Issue Number: 1
Issue: Revenue Cap and Price Cap
a. Please explain what Union means by “earn a superior return for superior performance”.
3 – Ref:  Union Exhibit #A, Tab #1 page 1 and page 7

Issue Number: 1
Issue: Revenue Cap and Price Cap
a. How will Union measure and report that customers are better off in terms of rates and service quality?

4 – Ref:  Union Exhibit #A, Tab #1 

Issue Number: 1.1
Issue: Revenue Cap and Price Cap
a. What criteria did Union use to select its Price Cap proposal and why?

b. In light of Enbridge’s decision to use a Revenue Cap method did Union revisit its decision to use a Price Cap method. If so please summarize the comparison that Union used to confirm that it would continue to propose a Price Cap method. If not why not?

c. If the Board approves different IR methods for Union and Enbridge are there any issues or implications that Union is concerned about? If yes, what are they and how would they impact Ontario gas consumers?

5 – Ref:  Union Exhibit #A, Tab #1 page 12
Issue Number: 1.3
Issue: Weather Risk

a. Union has proposed a change to weather normalization. Please provide an analysis of the impact that such a change would have on Union’s inventory carrying costs related to the cost of gas associated with such a change.
b. Please provide an analysis of the impact that the change in weather normalization has on the storage required for Union’s use. If a reduction in storage results due to the change in weather normalization throughout the plan period, how does Union propose to adjust its rates to reflect such a change?

6 – Ref:  Union Exhibit #A, Tab #1 Page 19
Issue Number: 1
Issue: Revenue Cap and Price Cap
a. Union states that by selecting the Price Cap method that it expects “more stable and predictable rates than a revenue cap”. Does Union expect rates to be more stable and predictable than cost of service? If so what impact will a move to price cap have on overall customer behavior?
b.  Have these factors been incorporated in Union’s price cap assessment? If so how?

7 – Ref:  Union Exhibit #A, Tab #1 

Issue Number: 7.1
Issue: NGEIR

a. What impacts on rates does Union anticipate and will it incorporate in rates over the duration of the plan based on implementation as approved by the Board?
b. What increase in activity level by rate class does Union project during the term of the IR related to implementation of NGEIR and or gas use by new gas fired generators under ACES, CES and standard offer CHP and NUG contracts as proposed by the OPA?
c. Have these activity increases been reflected in Union’s IR plan? If so how?
d. If not how would Union propose to reflect these activity increases?

e. At page 38 of Union evidence Union states that “Union will modify the meth(od) used to establish commodity prices to reflect any changes approved by the Board as a result of that process”. Does Union anticipate any changes will be required to its proposed IR if and when this should occur? If so what could those changes be?
8 – Ref:  Union Exhibit #A, Tab #1 

Issue Number: 8

Issue: Term of the Plan
a. Please explain the relationship in general between the term of an IR plan and the incentives provided to a regulated utility to increase productivity.

b. Please explain the intent of the five-year term in the company’s proposed IR plan.  

c. Would Union expect its incentives would be higher under a five-year term then under a three-year term?

d. Would Union expect its incentives to be higher under a five-year term then under a two-year term?

9 – Ref:  Union Exhibit #A, Tab #1 
Issue Number: 3.2

Issue: What are the appropriate components of an X factor?

The company notes on p. 32 of its evidence:
In Union’s view there is no justification for a stretch factor during its next IR plan term.  The proposed stretch factor is purely an ad hoc add-on; its value cannot be determined from the logic of price indexing as are the other components of the price cap formula. A stretch factor is usually added to an IR plan when there is a belief that, during the term of the plan, the utility will have both an incentive and an ability to increase productivity at a greater percentage than that determined by the historical industry TFP trend.

a. Is it Union’s belief that it will not have an incentive to increase productivity during the term of the plan?

b. Would Union expect its incentives under a five-year IR plan to be greater than the incentives the company faced during its three-year PBR and two-year rate freeze from 2001 to 2005?

c. Is it Union’s belief that it will not have the ability to increase productivity during the term of the plan?  

10 – Ref:  Union Exhibit #A, Tab #1  

Issue Number: 3.1
Issue: How should the X factor be determined?

The PEG Report calculates that Union’s TFP averaged 1.87 percent per year from 2000 to 2005 and 2.28 percent from 1999 to 2005 using the COS capital price approach (see Exhibit below).  Furthermore, PEG calculates that Union’s US Peer Group had annual average TFP growth of 2.04 percent annually from 1994-2004. 

Union’s TFP Performance, US Peer Group Performance and “Modeled”

TFP Performance from the US LDC Statistical Cost Model 

	
	COS
	US Peers
	Econometric Cost Model

	1999-2005
	2.28
	
	

	
	
	
	

	2000-2005
	1.87
	
	1.73

	
	
	
	

	1994-2004
	
	2.04
	


Source: PEG June 8, 2007 Report.

a. Please confirm that Union’s proposed X factor relies on the 1.73 average annual TFP growth estimated by PEG for Union from PEG’s statistical cost model.

b. Is it Union’s understanding that the data underlying the statistical cost model come from   LDCs operating across most of the regions of the US?

c. In particular, please confirm that it is Union’s understanding that no data from Enbridge or Union were used to estimate the model.

d. Is it Union’s understanding that no data from any Canadian LDC was used to estimate the statistical cost model used by PEG?

e. Please explain Union’s understanding of the rationale behind the inclusion of the US LDCs data that are used to estimate PEG’s statistical cost model.

f. Please explain Union’s understanding of the rationale behind the exclusion of Canadian LDCs from the data used by PEG to estimate the statistical cost model used to develop Union’s TFP for its X factor proposal.
g. Please explain Union’s understanding of the rationale behind the selection of the US LDCs that PEG used to form the Peer Group of LDCs to benchmark Union.

h. Please explain Union’s understanding of the rationale behind PEG’s exclusion of Canadian LDCs from the Peer Group of LDCs used to benchmark Union.

i. The Board has stated in the NGF report that it expects rate payers to share immediately in the efficiency gains from the IR and that it would be particularly diligent in its review of the parameters of the IR like the X factor to ensure that such sharing be effective from the beginning of the IR and not rely on rebasing alone at the end of the term to accomplish this.   Furthermore, Board Staff in their discussion paper have noted that no one would be made worse off from the IR.  According to PEG’s calculations, the average TFP growth rate over the 1999 to 2005 period for Union was 2.28 percent per year.  The recommended X factor of 1.73 falls far short of the company’s performance under the then operative COS and PBR frameworks.  The addition of the recommended stretch factor of 0.5 produces an X factor of 2.23, is still less than Union’s calculated performance since 1999.  Please explain how ratepayers would be made better off if the targeted X factor is less than what the company achieved under its COS and PBR terms?  

11 – Union Exhibit #A, Tab #1  

Issue Number: 3.3
Issue: What are the expected cost and revenue changes during the IR plan that should be taken into account in determining an appropriate X Factor?
a. Please explain the impact on rates from an IR plan with an X factor of .02 versus an X factor of .52 all else being equal.

b. Would rates be higher under the X factor of .02?

c. Please explain the impact on revenues from an IR plan with an X factor of .02 versus an X factor of .52 all else being equal.

d. Would revenues be higher under the X factor of .02?

e. Please explain the impact on profits from an IR plan with an X factor of .02 versus an X factor of .52 all else being equal.

f. Would profits be higher under the X factor of .02?
Power Workers’ Union Interrogatories: PEG
1 – Ref:  PEG Report
Issue Number: 8

Issue: Term of the Plan

a. Please explain the relationship in general between the term of an IR plan and the incentives provided to a regulated utility to increase productivity.  
b. Please explain the intent of the five-year term in the proposed IR plan. 

c. Would PEG expect the IR incentives to be higher under a five-year term than under a two-year term?

d. Would PEG expect the IR incentives to be higher under a five-year term than under a three-year term?
2 – Ref:  PEG Report
Issue Number: 3.1
Issue: How should the X factor be determined?
a. Please confirm that in both the 3/30 and the 6/08 reports PEG undertook an analysis of both Enbridge’s and Union’s historical TFP performance.
b. Please confirm that in both the 3/30 and the 6/08 reports PEG undertook a benchmarking of both Enbridge and Union using a peer group analysis approach to TFP performance.
c. Please confirm that in both the 3/30 and the 6/08 reports PEG undertook a TFP analysis of both Enbridge and Union using an econometric cost model in order to develop “projected” estimates of TFP.
d. Please confirm that in the 3/30 report, the GD productivity target for Enbridge was set using the econometric model projection only.
e. Please confirm that in the 3/30 report, the GD productivity target for Union was set using an average of the econometric model projection and the companies’ calculated TFP growth.
f. Please confirm that in the 3/30 report, the COS productivity target for Enbridge was set using an adjustment to its GD productivity target:  the GD econometric model projection was averaged together with the GD and COS TFP trend calculations for the company.
g. Please confirm that in the 3/30 report, the COS productivity target for Union was set using an adjustment to its GD productivity target:  the GD econometric model projection was averaged together with the GD and COS TFP trend calculations for the company.
h. Please confirm that in the 6/08 report, both the GD and COS productivity targets were set using only the econometric model projections and that the companies’ calculated TFP growth  and the companies’ benchmarking peer groups were not used to set the productivity targets.
i. The Exhibit below summarizes the companies’ US Peer Groups TFP performance as calculated by PEG using the COS method.   Please confirm that the values are accurate.
PEG Estimates of Union’s and Enbridge’s US Peer Group TFP 

Performance with COS: 1994 to 2004  

	
	
	US Peers
	

	
	March 30
	
	June 8

	
	
	
	

	Enbridge
	1.34
	
	2.13

	
	
	
	

	Union
	0.94
	
	2.04

	
	
	
	


Source: PEG March 30 and June 8, 2007 reports.

j. Given that the sample of utilities is similar and the calculations cover the same period, please explain in detail what the causes are of the large differences between the 3/30 and the 6/08 reports, e.g. why was Union’s benchmark peer group’s estimated TFP 0.94 in the March report and 2.04 in the June report?

k. The Exhibit below summarizes the companies’ cost model projected TFP performance as calculated by PEG using the COS method.   Please confirm that the values are accurate.
PEG Estimates of Union’s and Enbridge’s Cost Model Projected TFP 

Performance with COS:   2000 to 2005
	
	
	Projected TFP
	

	
	March 30
	
	June 8

	
	
	
	

	Enbridge
	1.37
	
	2.10

	
	
	
	

	Union
	1.29
	
	1.73

	
	
	
	


Source: PEG March 30 and June 8, 2007 reports.

l. Given that the projections come from PEG’s US LDC cost model and the calculations cover the same period, please explain in detail what the causes are of the large differences between the 3/30 and the 6/08 reports, e.g. why was  Enbridge’s projected TFP benchmark  estimated to be  1.37  in the March report and 2.10 in the June report?

m. The Exhibit below summarizes the companies’ TFP performance as calculated by PEG using the GD method.   Please confirm that the values are accurate.
PEG Estimates of Union’s and Enbridge’s TFP Performance
 with GD:   2000 to 2005
	
	
	Calculated TFP
	

	
	March 30
	
	June 8

	
	
	
	

	Enbridge
	1.03
	
	0.83

	
	
	
	

	Union
	1.98
	
	1.76

	
	
	
	


Source: PEG March 30 and June 8, 2007 reports.

n. Given that the  calculations cover the same period, please explain in detail what are the causes of the differences between the 3/30 and the 6/08 reports, e.g. why was  Enbridge’s TFP estimated to be  1.03  in the March report and 0.83 in the June report? 
o. The 6/08 PEG report calculates that Union’s TFP averaged 1.87 percent per year from 2000 to 2005 and 2.28 percent from 1999 to 2005 using the COS capital price approach. (See Exhibit below.)  Furthermore, PEG calculates that Union’s US Peer Group had annual average TFP growth of 2.04 percent annually from 1994-2004.  Please confirm that these values are accurate.
PEG Estimates of Union’s TFP Performance, US Peer Group Performance and “Modeled” TFP Performance from the US LDC Statistical Cost Model 

	
	COS TFP
	US Peers
	Econometric Cost Model

	1999-2005
	2.28
	
	

	
	
	
	

	2000-2005
	1.87
	
	1.73

	
	
	
	

	1994-2004
	
	2.04
	


Source: PEG June 8, 2007 Report.

p. Please confirm that in the 6/08 report the proposed X factor for Union relies on the 1.73 average annual TFP growth estimated by PEG for Union from its statistical cost model.
q. Please confirm that the data underlying the statistical cost model come from   LDCs operating across most of the regions of the US. 
r. In particular, please confirm that no data from Union were used to estimate the model.
s. Was data from any Canadian LDC used to estimate the statistical cost model used by PEG? 
t. Please explain in more detail the rationale behind the inclusion of the US LDCs that are used to estimate PEG’s statistical cost model.
u. Please explain the rationale behind the exclusion of Canadian LDCs from the data used to estimate the statistical cost model used to develop Union’s TFP for its X factor proposal. 

v. Please explain in more detail the rationale behind the selection of the US LDCs that are used to form the Peer Group of LDCs to benchmark Union.
w. Please explain the rationale behind the exclusion of Canadian LDCs from the Peer Group of LDCs used to benchmark Union. 
x. Please confirm that in the 6/08 report the 1.73 average annual TFP growth used to set Union’s X factor is less then the average annual TFP growth calculated by PEG for Union over the 1999 to 2005.    

y. Please confirm that in the 6/08 report the 1.73 average annual TFP growth used to set Union’s X factor is less then the average annual TFP growth calculated by PEG for Union over the 2000 to 2005 periods.  

z. Please confirm that the 1.73 average annual TFP growth used to set Union’s X factor is less then the average annual TFP growth calculated by PEG for Union’s US Peer Group over the 1994 to 2004 period.
aa. Please confirm that PEG’s calculated TFP performance for Union over the 1999 to 2005 period is .55 percent per year higher than the 1.73 “predicted TFP value” from PEG’s cost model that is used to set the X factor for Union.  That is, please confirm that the X factor proposed by Union would need to be raised by .55 in order to equal the TFP growth calculated by PEG for Union from 1999 to 2005.
ab. Please confirm that PEG’s US Peer Group for Union has an average TFP growth .31 percent per year greater than the 1.73 statistical cost model result from PEG’s estimated cost model.  That is, please confirm that the X factor proposed by Union would need to be raised by .31 in order to equal the TFP growth calculated by PEG for its Union Peer Group from 1994 to 2004.
ac. The Board has stated in the NGF report that it expects rate payers to share immediately in the efficiency gains from the IR and that it would be particularly diligent in its review of the parameters of the IR like the X factor to ensure that such sharing be effective from the beginning of the IR and not rely on rebasing alone at the end of the term to accomplish this.   Furthermore, Board Staff in their discussion paper have noted that no one would be made worse off from the IR compared to COS.  According to PEG’s calculations, the average TFP growth rate over the 1999 to 2005 period for Union was 2.28 percent per year.  The recommended X factor of 1.73 falls far short of the company’s performance under the then operative COS and PBR frameworks.  Even the addition of the recommended stretch factor of 0.5 produces an X factor of 2.23, still less then the company’s calculated performance since 1999.  Please explain how ratepayers would be made better off if the targeted X factor is less than what the company achieved under its COS and PBR terms?  
ad. PEG is also recommending a residential rate class adjustment of -0.61 to the operative X factor effectively lowering the proposed company productivity target to 1.62.  Please explain how ratepayers would be made better off if the targeted X factor is significantly less than what the company achieved under its COS and PBR terms?  

ae. The Exhibit below summarizes PEG’s results for Enbridge for the COS TFP, US peer group calculated TFP, and projected TFP for the PEG cost model.   Please confirm that the values are accurate.
PEG Estimates of Enbridge’s TFP Performance, US Peer Group Performance and “Modeled” TFP Performance from the US LDC Statistical Cost Model 

	
	COS TFP 
	US Peers
	Econometric Cost Model

	1999-2005
	NA
	
	

	
	
	
	

	2000-2005
	0.71
	
	2.10

	
	
	
	

	1994-2004
	
	2.13
	


Source: PEG June 8, 2007 Report.

af. Please confirm that according to PEG’s calculations, Enbridge had a positive O&M PFP growth from 2000 to 2002.
i. What was the annual growth rate over the 2000 to 2002 period?

ag. Please provide the sub-indexes for input quantities for both companies over as long a period as possible including the indexes for capital, labor, materials, and gas.
3 – Ref:  PEG Report
Issue Number: 3.2

Issue: What are the Appropriate Components of an X factor?
a. Please confirm that PEG’s proposal entails some service groups having differing X factors from the company-wide X factor proposed for each company. 

b. Please confirm that PEG has recommended that the X factor for each company’s residential rate classes have an adjustment made to the overall company X factor which would lower the effective X factor that is applied to this rate class.  

c. Please confirm that PEG has recommended that the X factor for each company’s nonresidential rate classes not be adjusted from the sum of common terms. 

d. The Exhibit below summarizes the proposed X factor adjustments from the 3/20, 6/08, and 6/20 reports.  Please confirm that this information is correct.
i. Please explain in detail why every calculated X factor adjustment for individual rate classes changed between the 3/20 report and the 6/08 report.
ii. Please explain in detail why four of the five calculated X factor adjustments for individual rate classes changed between the 6/08 report and the 6/20 report.
iii. Please explain in detail how the signs of the calculated X factors (i.e., positive or negative) of two rate classes switched between the 3/20 and the 6/08 reports
iv. Please explain the consequences on the PCI of an adjustment going from a (-) sign to a (+).
v. Please explain the consequences on the PCI of an adjustment going from a (+) sign to a (-) sign.
	PEG’s Proposed Service Group PCIs

	
	March 20
	June 8
	June 20

	
	X factor
	ADJ
	X factor
	ADJ
	X factor
	ADJ

	
	
	
	
	
	
	

	Enbridge
	
	
	
	
	
	

	Rate 1
	-0.19
	-0.74
	0.85
	-0.41
	0.85
	-0.48

	Nonresidential
	-0.19
	1.36
	0.85
	0.69
	0.85
	0.69

	
	
	
	
	
	
	

	Union
	
	
	
	
	
	

	Rate M2
	-0.50
	0.37
	0.52
	-0.61
	0.52
	-0.65

	Rate 01
	-0.50
	-0.32
	0.52
	-0.61
	0.52
	-0.65

	Nonresidential
	-0.50
	-0.52
	0.52
	1.20
	0.52
	1.26


Source: PEG March 30, June 8, and June 20, 2007 reports.

e. Please confirm that in the 3/20 report Enbridge’s Rate 1 rate class had a calculated adjustment of -0.74.
i. Had such an adjustment been made, what would have been the effect of such an adjustment on the rate relative to not having such an adjustment?
f. Please confirm that in the 6/08 report the calculated adjustment is -.041 and that in the 6/20 report the adjustment is -.048.
g. Please confirm that in the 3/20 report Union’s M2 rate class had a calculated adjustment of   0.37.
h. Please confirm that in the 6/08 report the calculated adjustment is now -0.61 and that in the 6/20 report the adjustment is -0.65.
i. Had these adjustment been made, what would have been the effect of the 3/20 adjustment on the rate relative to the 6/20? That is, would the 3/20 adjustment have lowered the resulting PCI while the 6/20 adjustment would have increased the resulting PCI?
i. Over a term of 5 years, please calculative the difference in the PCI based on the 3/20 rate with its adjustment and the PCI based on the 6/20 rate with its adjustment?

j. Please confirm that in the 3/20 report Union’s 01 rate class had a calculated adjustment of   -0.32?
i. Please explain why your calculations in the 3/20 report found that the adjustment sign for the M2 rate class should be (+) while the adjustment sign for the 01 rate class should be (-).
ii. Please confirm that in the 6/08 report the calculated adjustment for the 01 rate class is now -0.61 and that in the 6/20 report the adjustment is -0.65.   

k. Please confirm that in the 3/20 report Union’s nonresidential rate class had a calculated adjustment of   -0.52?
l. Please confirm that in the 6/08 report the calculated adjustment is now 1.20 and that in the 6/20 report the adjustment is 1.26. 
m. Please confirm that in the case of Enbridge, PEG has recommended in the third proposed adjustment that the residential rate class (i.e., Rate 1) would have a -0.48 percent adjustment to the overall proposed company-wide X factor.
n. Please confirm that in the case of Union, PEG has recommended in the third proposed adjustment that the residential rate classes (i.e., Rate M2 and Rate 1) would have a -0.65 percent adjustment to the overall proposed company-wide X factor.
i. Please confirm that in the case of Enbridge this would result in a “total” X factor of 0.37 for the residential classes. 

ii. Please confirm that in the case of Union this would result in an X factor of -0.13 for the residential classes. 

o. Please confirm that for Enbridge, the proposed adjustments have been equal to in excess of 60 percent of the value of the proposed productivity target (i.e., 1.36/2.1).
p. Please confirm that for Union, the proposed adjustments have been equal to in excess of 70 percent of the value of the proposed productivity target (i.e., 1.26/1.73).
q. Please provide references to all IR plans that PEG is familiar with that implemented a negative X factor (i.e., the X factor was additive to the price index which meant rates increased faster then inflation).
r. Please confirm that this adjustment for Union’s residential classes would result in an increase in the PCI of 1.49 percent per year versus an increase in the recent GDPPI trend of 1.86.
s. Please confirm that this adjustment for Union’s nonresidential classes would result in an increase in the PCI of 0.08 percent per year versus an increase in the recent GDPPI trend of 1.86.
t. Please confirm that this adjustment for Enbridge’s residential classes would result in an increase in the PCI of 1.99 percent per year versus an increase in the recent GDPPI trend of 1.86.
u. Please explain how the company was able to develop and propose X factors which varied by rate classes thus assigning different rate increases to different rate classes without doing a comprehensive cost of service-cost allocation study.  

v. Please take the total rate change in dollar terms under the proposed IR plan and compare the percentage  increases for each rate class, e.g. under the proposed IR plan rate class X would be assigned 35 per cent of the proposed increase, rate class B 25 percent, etc. 

w. Please compare the distribution of percentage changes obtained in (v) to those under each company’s most recent COS filing.

x. Please provide references to other plans that used the adjustment approach being proposed by PEG?  

y. What other data is employed in PEG’s calculations for determining the adjustment factor other then revenue shares by class and the cost elasticity estimate from PEG’s US LDC cost model? 

4 – Ref:  PEG Report
Issue Number: 3.2

Issue: What are the Appropriate Components of an X factor?

a. Is it PEG’s belief that the companies will have an incentive to increase productivity during the term of the plan?

b. Please discuss the general reasoning used in IR plans for the inclusion of a stretch factor.
i. Would that reasoning hold in this instance of PEG’s proposed IR plan for Union and EGD as well?   
5 – Ref:  PEG Report
Issue number: 3.2

Issue: What are the Appropriate Components of an X factor?

a. In PEG’s view, can an IR framework be structured using an industry specific input price index (IPI) and industry TFP? 
b. How would the use of industry specific IPI and TFP compare in terms of theoretical appropriateness to an approach using the macro output price index approach with productivity and input price differentials recommended by PEG?  
c. Theoretically, in the macro output price index approach recommended by PEG,  once the  corrections are made for the  productivity and input price differentials, does the approach recommended by PEG equal the approach based on the industry input price index and industry TFP?  Please provide the mathematics for your answer.
d. Please confirm that the industry specific price index approach does not require an estimate of Canadian TFP, nor an estimate of Canadian input prices, nor a macro price index like the GDPIPI.
e. Please confirm that in the GDPIPI approach recommended by PEG an industry specific price index is required to be theoretically correct.
f. Please confirm that the Canadian input price index employed in the correction differential in the GDPIPI approach recommended by PEG is not provided by Stats Canada or any other Government agency.  
g. If the Canadian input price index is not provided by the government, please explain how PEG obtains this information?  
h. If the Canadian input price index is created by PEG please explain the calculations.
i. What assumptions are involved for these calculations?   
i. If calculations are required to construct an estimated Canadian input price index by PEG, could the calculations result in errors between the actual, but not observed, Canadian input price index and the estimated Canadian input price index?

i. How would such errors affect the X factor?

j. Does Stats Canada ever revise its estimate of Canadian TFP?  

k. Have revisions of national TFP estimates ever resulted in differences between the estimate used in an X factor productivity differential and what the later value was revised to?
6 – Ref:  PEG Report
Issue number: 3.3
Issue: What are the expected cost and revenue changes during the IR plan that should be taken into account in determining an appropriate X factor?
a. Please explain the impact on rates from an IR plan with an X factor of 0.44 versus an X factor of 1.54 all else being equal.
i. Would rates be higher under the X factor of 0.44?
b. Please explain the impact on profits from an IR plan with an X factor of 0.44 versus an X factor of 1.54 all else being equal.
i. Would rates be higher under the X factor of 0.44?
c. Please explain the impact on rates from an IR plan with an X factor of -0.09 versus an X factor of 1.72 all else being equal.
i. Would rates be higher under the X factor of -.09?
d. Please explain the impact on profits from an IR plan with an X factor of -0.09 versus an X factor of 1.72 all else being equal.
i. Would profits be higher with an X factor of -.09?

7 – Ref:  PEG Report
Issue number: 3.2

Issue: What are the Appropriate Components of an X Factor?

a. The Exhibit below presents alternative capital service price changes based on various calculated indexes in the 6/20 report.  Please confirm that these are the price changes calculated by PEG.
	PEG’s Alternative Capital Service Price Indexes from the 6/08 Report:

 Percentage Change

	
	GD
	COS

	
	Actual
	Smoothed
	Enbridge
	Union

	
	
	
	
	

	1989
	-26.8
	
	
	

	1990
	25.2
	
	
	

	1991
	-18.9
	-8.2
	-0.9
	0.0

	1992
	6.3
	4.2
	10.9
	8.0

	1993
	-5.1
	-6.0
	0.5
	-0.1

	1994
	-13.9
	-3.3
	7.9
	7.5

	1995
	28.9
	3.6
	1.2
	2.1

	1996
	-27.2
	-4.3
	0.9
	-0.3

	1997
	-1.4
	0.9
	-5.5
	-7.1

	1998
	-18.0
	-15.7
	-2.6
	-3.6

	1999
	45.5
	9.4
	20.8
	19.9

	2000
	-6.0
	6.7
	0.7
	0.7

	2001
	29.5
	21.5
	12.1
	12.0

	2002
	-23.2
	-0.5
	-11.3
	-11.1

	2003
	12.8
	6.0
	2.2
	2.0

	2004
	-41.6
	-15.6
	3.4
	3.1

	2005
	2.3
	-6.7
	-6.0
	-6.1


b. Please comment on and explain the sizeable differences between the various indexes.  For example, in 1994 the actual GD has a value of -13.9, the smoothed GD -3.3 while the COS values are 7.9 and 7.5. And for example in 2004 the values range from -41.6 to 3.4.

i. Please explain the variance in the GD index which has reported values of -41.6 to 45.5 with 8 values of  more then 20.0 (absolute values) and 12 values of more then 10.0 (absolute value).
ii. Please explain the variance in the COS indexes which range from 20.8 to -11.1.

iii. Please explain the variance in the GD smoothed index which ranges from 21.5 to -15.7?  
c. The Exhibit below presents alternative input price changes based on various calculated indexes in the 6/20 report.  Please confirm that these are the price changes calculated by PEG? 
	PEG’s Alternative Input Price Indices: Percentage Change

	
	Enbridge
	Union

	
	GD
	COS
	GD
	COS

	
	Actual
	Smoothed
	
	Actual
	Smoothed
	

	
	
	
	
	
	
	

	1989
	-16.1
	
	
	-14.8
	
	

	1990
	18.1
	
	
	17.5
	
	

	1991
	-10.9
	-3.8
	1.1
	-9.7
	-3.1
	2.6

	1992
	4.6
	3.2
	7.5
	4.7
	3.4
	5.5

	1993
	-2.8
	-3.4
	1.0
	-2.3
	-2.9
	1.0

	1994
	-8.9
	-1.9
	5.5
	-7.9
	-1.3
	5.2

	1995
	20.1
	3.2
	1.6
	18.6
	2.8
	1.8

	1996
	-17.6
	-2.4
	1.1
	-16.5
	-2.2
	0.4

	1997
	-0.4
	1.1
	-3.0
	-0.2
	1.2
	-2.9

	1998
	-11.7
	-10.2
	-1.4
	-10.6
	-9.2
	-1.2

	1999
	30.7
	6.6
	13.9
	29.0
	6.5
	11.9

	2000
	-3.4
	5.1
	1.1
	-2.5
	5.5
	1.8

	2001
	20.4
	15.1
	8.4
	20.7
	15.5
	9.2

	2002
	-15.3
	0.4
	-6.5
	-14.6
	0.1
	-6.2

	2003
	9.4
	4.7
	2.1
	9.1
	4.7
	2.2

	2004
	-26.6
	-9.5
	3.0
	-25.1
	-8.9
	2.8

	2005
	2.0
	-3.6
	-3.0
	2.4
	-2.9
	-2.2


d. Please comment on and explain the sizeable differences between the various indexes.  For example, in 2004 the actual GD has values of -26.6 and -25.1, the smoothed GD has values of -9.5 and -8.9 while the COS values are 3.0 and 2.8. And for example in 1995 the actual GD has values of 20.1 and 18.6, the smoothed GD 3.2 and 2.8 while the COS values are 1.60 and 1.8.

i. Please explain the variance in the GD index which has reported values ranging from 30.7 to -26.6  with Enbridge’s index having 4 values of  more then 20.0 (absolute values) and 10 values of more then 10.0 (absolute value).
ii. Please explain the variance in the COS indexes which range from 13.9 to -6.5 (for Enbridge)?
iii. Please explain the variance in the GD smoothed index which ranges from 15.1 to -10.2 (for Enbridge)?  

e. The Exhibit below presents alternative input price changes based on various calculated indexes in the 3/20 and 6/20 reports.  Please confirm that these are the price changes calculated by PEG. 

	Comparing IPIs Across PEG’s Reports: Percentage Change

	
	Enbridge
	Union

	
	GD
	COS
	GD
	COS

	
	3/20
	6/08
	3/20
	6/08
	3/20
	6/08
	3/20
	6/08

	
	
	
	
	
	
	
	
	

	1989
	29.0
	-16.1
	
	
	27.2
	-14.8
	
	

	1990
	14.9
	18.1
	
	
	14.3
	17.5
	
	

	1991
	13.7
	-10.9
	0.9
	1.1
	13.2
	-9.7
	3.0
	2.6

	1992
	-19.7
	4.6
	8.4
	7.5
	-17.9
	4.7
	6.7
	5.5

	1993
	-2.1
	-2.8
	1.1
	1.0
	-1.7
	-2.3
	1.3
	1.0

	1994
	-55.8
	-8.9
	6.4
	5.5
	-51.2
	-7.9
	5.9
	5.2

	1995
	27.4
	20.1
	2.2
	1.6
	25.3
	18.6
	3.6
	1.8

	1996
	60.3
	-17.6
	1.6
	1.1
	55.9
	-16.5
	0.7
	0.4

	1997
	-29.9
	-0.4
	-2.9
	-3.0
	-27.5
	-0.2
	-2.9
	-2.9

	1998
	-7.9
	-11.7
	-1.2
	-1.4
	-7.0
	-10.6
	-1.0
	-1.2

	1999
	3.5
	30.7
	15.8
	13.9
	3.6
	29.0
	13.5
	11.9

	2000
	10.7
	-3.4
	1.5
	1.1
	10.8
	-2.5
	2.2
	1.8

	2001
	45.8
	20.4
	9.4
	8.4
	44.4
	20.7
	9.9
	9.2

	2002
	-11.5
	-15.3
	-7.0
	-6.5
	-10.8
	-14.6
	-6.3
	-6.2

	2003
	-10.4
	9.4
	2.4
	2.1
	-9.7
	9.1
	2.4
	2.2

	2004
	-131.5
	-26.6
	3.5
	3.0
	-123.8
	-25.1
	3.2
	2.8

	2005
	NA
	2.0
	-2.7
	-3.0
	NA
	2.4
	-2.1
	-2.2


f. Please comment on and explain the sizeable differences between the various indexes.  For example, in 1996 the GD for Enbridge is calculated as 60.3 in the 3/20 report but -17.6 in the 6/08 report.   In 1989 the GD for Union is reported as 27.2 in the 3/20 report but -14.8 in the 6/08 report.  In 1995 the COS for Union is calculated as 3.6 in the 3/20 report but as 1.8 in the 6/08.  

g. Please explain how errors in the calculated input price index would affect the X factor and, in turn the PCI.  

h. Please calculate the effect of using the IPI value of 2.0 versus an IPI value of 4.0 on the growth 
in the resulting PCI for a five year term.     
i. The Exhibit below presents alternative input price differentials based on various calculated values in the 3/20 and 6/20 reports.  Please confirm that these are the IPI differentials reported by PEG. 

	PEG’s Calculated Alternative Input Price Differentials

	
	Enbridge
	Union

	
	GD
	COS
	GD
	COS

	
	Actual
	Smoothed
	
	Actual
	Smoothed
	

	
	
	
	
	
	
	

	6/08
	
	
	
	
	
	

	1998-2005
	
	
	.27
	
	
	.22

	1999-2005
	5.13
	0.86
	
	4.55
	0.54
	

	
	
	
	
	
	
	

	3/20
	 
	
	
	
	
	

	1998-2005
	
	
	-0.37
	
	
	-0.35

	2000-2005
	
	6.65
	1.27
	
	6.20
	0.98

	1993-2002
	-1.81
	-0.16
	
	-1.89
	-0.33
	

	1994-2004
	6.92
	-0.35
	
	6.46
	0.46
	6.20


j. Please confirm that the IPI differentials proposed by PEG in the 6/20 report are based on the COS values over the 1998 to 2005 period.
k. Please explain the range of values reported?  For example, in the 3/20 report PEG reports a GD differential of 6.92 for Enbridge over 1994 to 2004 and a value of -1.81 from 1993 to 2002.  Similarly, in the 3/20 report PEG reports a COS value for Enbridge  of 1.27  for the period 2000 to 2005 and a value of -0.37 for the period 1998 to 2005. 
l. Please comment on the statement that the reported differentials appear to vary greatly depending on the PEG report selected (i.e., 3/20 v. 6/08), the time period selected and the choice of GD vs. COS.
i. If the differential is as volatile and unstable as it appears to be from the numerous estimates reported by PEG, please comment on how the Board and other stakeholders can have any confidence in the value of the differential actually employed in PEG’s proposed IR.  

m. Please confirm that in the 3/20 report PEG wrote (p55), “Results using both methods substantiate the notion that the input price trends of Ontario gas utilities are considerably more rapid than the trend in GDPIPI FDD.” (both methods refers to GD and COS).  Please confirm that in the 6/08 report PEG wrote (p. 61), “Results using both methods substantiate the notion that the input price trends of Ontario gas utilities are somewhat slower than the trend in GDPIPI FDD.”
i. Please explain how the conclusion reached in the 3/20 report that the IPIs of Ontario gas companies grew “considerably more rapid” than the GDPIPI FDD is consistent with the 6/08 conclusion that the gas IPIs are growing “somewhat slower” than the GDPIPI FDD. 

n. Please explain how errors in the calculated input price differential would affect the X factor and, in turn the PCI.  

o. Please calculate the effect of using an IPI differential of -0.37 versus an IPI differential 0.27 on the growth in the resulting PCI for a five year term.     

p. Please calculate the effect of using an IPI differential of 0.27 versus an IPI differential of 1.1 on the growth in the resulting PCI for a five year term.   
q. Please comment on prior instances in either gas or electric cases where the Board has ruled on an IPI differential or it has been used in an IR rate adjustment mechanism implemented by the Board.
i. What were the values of the differential?  

r. Please confirm that in the industry specific input price approach, neither the Canadian input price index nor the IPI differential are required. 
s. Please list all regulatory bodies that have employed the so called COS capital service price index or COS IPI in IRs and the dates and utilities for which they were   employed.
�What growth?
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